AKX X0 X EK AKX
ZEce(stah SHi g ity sxolgl BHE n n =54 n
Hasa | SMdEs | WSS | Sl ~g] Hasa | SdEs
ol At a| 1} MiS= 1 4 44 373.04 7.4 349.12 4 6.38 357.24
S| 21} MASS 2 8.5 1.8 393.84 4.2 374.4 3.43 380.88
EALM T} MiS= 2 2 4.1 375.28 7.5 348.64 6.00 360.36
X|7| 21} MiS= 1 4 5.2 367.04 7.8 345.92 6.33 357.76
X| 9| A4 1} MiS= 2 19 2.7 386.64 3 384.48 2.85 385.56
otAWSt I} MiS= 1 1 7.2 350.56 7.2 350.56 7.20 350.56
o| R & at MiS= 1 1 5 368.72 5 368.72 5.00 368.72
ALS| 2 x| 2 MiS= 1 4 5.7 363.04 6.9 353.36 6.30 358.03
ALZ| 5 X|2H(OF) MArs= 1
gotmgat MASS 1 3 5.8 361.6 5.8 361.6 5.80 361.60
oS 2 g1} Mirs= 1
Sy MXSE 1 3 7 352.48 7.9 345.2 7.33 349.68
oA =a|at MiS= 1 6 4 376.32 7.4 343.44 6.18 358.00
MEort MASS 1 1 5.9 360.8 5.9 360.8 5.90 360.80
S AH| 20t Mis= 1 1
0| I 56| 2} T 1} MASS 1 3 25 388.64 7.8 345.84 5.10 367.65
FHa|c|xpelat Mis= 1
Fix-x-in]) MiSS 4 8.75 1.9 393.28 31 383.92 2.28 390.26
o| s HALE T} MiS= 1 2 6.6 355.6 6.7 346.04 6.65 350.82
ME S AL} MRS S 1 3 4.8 363.76 7.3 349.92 6.05 356.84




